u.ah.\\c_n.d\‘gu.\hl\?.da.d\ bJ‘JJ

f-)AJS daala
aba.wtg- olaY) A.JS

Juaslaa picaball Ll ol Cppaditall Lullall ol (latal)
2017 -2016 il Al plad)
2016/ 08 /1 : f_LI_,JC\]\

= e s o - =

R spkadl cika el

e

a8411) g 408 1)

Loy i jladl e dasaall cllal) e JSI gl aalgl (e ) Aadle puda: JoW) J) gl

¢ aiatll Aglee 3 pa3iud LA LY A ) 53 e ol YV 00 6l -1

: Jo¥1 el '

a_)\.JY\ LJ.M.‘M ‘)J

3] GEsA |z ] AR A U i | @

BIVEL| g Hleadtay)

[

uimsi_m A GEN Llee (Y Apulal Clll) Juasi A o Ju\ Gl aeluy -2

B Gedl Aalall Ay o | o | Alae O |

ZLall 30 g3l

5 ylay! d_M 43\
Aallall 20) gall

1

el i
_ T Y dntindl) A1 ) e cilluall Gl e iy -3

Cilafiaadl | 2 Saall e al P\ ) Aptuall Olleadl | = | )Jnx\ :isgum <| ol |
el QM‘LHMJ;M&EL Ml.a:_‘.la.:.l:;.aﬂ Gbloadl t._xs\_).ol.ﬁ_\u.u_a.mgaﬂ 45y _).JL..cml\ U-“LG‘ -4
oLy dga) 53 38
Al ) 1l | o | Ay ayclbleall i |z Jadl 5y | o | amal @dail Qs | T
anll 4 gull Jaaadl gal liluall Sl asl JAH ezl ddaisl o
LJ:E-“-"—“ LAJ.J.u_-:\ ‘;_'m u.:.\ula.an é:_}a\ﬂ
Uaidliagssd | o | LA e ddeW (S | 7z | ddWisl g ae | ‘,5 )
:\.ﬂla\.ﬂ\ :UE‘).“ Ay Q_QLS ds.:u :L.\__.‘LA]\ u.u.“ L_.ﬂs.\_)b n_)b\!\ LJ:""_?AM

~Lb Al c_n,.-.\ﬁ.\z\ ayiiad (Say -6

aA.s.a_))d M LD\_)LL\A\ 3 4..\.“.4” L_u.u.!.u L.J‘_)\.LL;‘ Il

d bl O Huial | @ 4|3 _)l\ | Huaal

’i

aale 131 2014 e %10 4wty 2015 TR T Gl a3 A8 LAl L) O abibuall 8] yal Cu.a.\\ B

g;b Hlaal | 2] L e EJL‘N\ c.\.l\ @ = ‘__; Aic CL..aéY\ Kﬂ\ (e ng]:u O | Ly J\J@\

aallall \""‘ sally 438 yall ) B0 DA |

| e gl

|

U_U).\SJY\ (a8l C_ALUJ db"—“ g (_g_‘sl_-..s"‘)!\ allall 3_&\5‘)3\ O 523 add i 4_\.1_3_).153\.” ALl bl d_ﬁm.! -8

IDEA | -

STARTA - AUDITAPE | <

AUDASSIST

|




& et . - p—— U P P
e et | Sl . iy P R 5 M P ey it i S . . S e e g ST g A i e i e et e e e L L TR R PR Sy —— FEE .

& m——— s el P S A e ———— R0 a e

dtanal) 4,18 elﬁjgégh&bm Ao 9 Caal ¢ ladl dS it AT ¢uld o gall Slaat IMA = SN el
(AT Calaall dland A (e lld g ALY Cila g gally Ailatall

Sl g 35 Gl gl 25 LS AU AS,A0 sl sl iy 5 sale 200 @J W VORI |
_ $3 ) g pema o jliiely Llpall Cli g jae Clus e Gy jeadll

7010 Ay 2323 33U Clay 33 Lay (il Lo %15 Ay &l el Uil A8 420 Canial -2

Al g Gl i) e N G g gl e el dESp A e s ol -3

O Lo dla yaia AL ﬁ-ﬁﬂ]l@O&\ﬁ-‘ﬂ‘eﬁj O Gaale 250 adiay okl ) el iy A< 3N cudld g
O O sale 200 @laay A8 AN Adland 1 4530 gall 4 Jalaie | lilia

&a Olindl AS &) A5 <y ga gall 03040 408 Al Cpaal lila jB) gd (i 5 )S3a dlae) 1 gllaall
e Gl (8] 10 5 jlin QEESYb 5 yS3all Jaud A (___51 S ads 4352

Ak 5 ) alal (L) sl Aasaall 5 ladl Ll (geas) dalSy qual sl Jigud

bl el salall s il gladll -1
Slaglen ) Gliball J a5 o)) GSan e W g a8 -2
A Jiads Lallaty ) ULl asesd oo dalladl -3

_QQAA\(;saﬁjA\-lcugquJmﬂlmuojsﬂll (el Ziay aly Y a0 3 Jal (e -5

%uﬁu‘%ﬁeMY‘JJJLJ;\_)&’H‘JA‘JH)AM&JJSLBUMMJM\ -1
4 3 _ 2 1
ST o) oo Sl il o DA L
e Alade YU ALY pud (A il A3y -2
4 3 2 , 1
u;a.ﬂ‘@:!j ¢-‘_)-n.ﬂ\&—lu=l C-‘J-:J“)A‘ | J_)}AHEJJS@
_ ?QJLA‘)AQ&JAOﬁO‘QHZ-ﬁY‘CjM‘OAL;‘ -3
4 - 3 ; 2 L7
GJLu_)S.JLAdS JJ}A‘EJﬁﬁj;‘)ﬂ\ﬁ\_ ;‘ﬂ‘_}a‘ | IJJJAMEJ}S@
et;ug::‘)ds.jac:ua.“@&@Méc&Y‘EJJJwM&)ﬂé\&-4
4 | 3 2 | 1
Alaal Y] 8 aadiiall Jasll J s il -5
4 3 2 1
ozl L, 3 all A3 ERPTEWE TPNETIN




D ADEWI C izlai¥ B ; cigaall @iad A 3l Y
H M\MY\ Gl 3aa g QS F A.JJJJ]\EM'_)UAMY\ n

ﬁjm"w)”wﬂ‘)énﬂja{_u/{/m S alal ;i glball

"

(A,

Asulaall clasaall g cilud il g gaball (e e gana Y 1dsY) O el

....................... 5% JS Al Ale o8 8 ol ol g ghasie & 558 () sy 4S50 K jaall |
.................................... S ALY (FEat Laxie Y1 ) YU G yiad Y S L8020

----------------------------------------------------------------------

----------------------------------------------------

IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII

diatll afy J gVl Jansi - 3
aic Flad)l) s Il ola¥) (uldl saaae (el 3aa o€ ) Cuulaal) 2035 4

4l glaie pe g dlglate ) Ara ganl) 43 aall Cabial S

8 3 4ila

W) i Y Lsalaall 4kl debua 8 abisaY) Jaadl |

iy )MJ\ u\j.\...uulc 433 djmysuls@y_

ah‘}auu‘ad‘jm%cj_)ﬂj‘\s)um.]nm?.b-f;

ek | I | YO {

-7

sty pasdgdul 0 [ 4] Jidass asdsdal o [ 3] gliuly pasis i [ 2] Landydul
EL 3l e Cili yadl g Cilae ganl g gand) Cia il jal) Jalasi
Y e Y A gl alic aalS AL (6 gEa
Bagdldsal 7ok 4] e bl | 3] Akl Ggia 75k [ 2| saa gl agad 7yl | 1
g 3iad (1 ASL 3 gia L) soal (52 Ll sl (s

T e Ll Y Il 3K 7 saluall .b.ts Agay all AaS) o) (e a2 ML

Y1 g Lo Y Jaadi s
u.a;é_s :L..u\_).l 4 u.a;aj M\JJ 3 d_.}];:u uaﬂ_, M‘JJ 2 uz:.\:a&j :L.u\JJ 1
S ¥k z il 5 dalad Sl jadl 5 Clae gazll Jalad g
s jall s sall - Sl gl
Y Lpalaall 4y il o
LS | 4 il Jaill ‘)4‘5.‘::33 em 3 {sala ic_gm 2 CJ‘;\_).}‘)U yband’ 1
(9 davlaall daalaia dvalsyll
| oe Y Las Yy Lol as) 23le o giadll- 5
el o ol el




i

Hoe b T ek ey
L e B ey i da et

|

A e L

\mu O Lm Gl 5

AN L

3

4 | sx) g ¢ Gilaal Sl il 543 | 2 MJ&L\ULM\ ’I
o - - AV YA as] 8 VI Loy Tutadl el Y- C
AL 5 gl OO | 4 [ Al 5, 40 o | 3 | acladll 5,4 B [2 [l e ] 1
_ , . L 80 Al e g Y (Y1 e L
QLAJ.‘M_);\Q_}S 4 EJ&SA&:JLAJLA‘):}S} 3 . t_.ﬂ..a‘jlu_):\ﬂ_,.i 2 | L.JLA_,.‘M‘).\EJJ 1
-3_)‘_9-“”(_')‘: E.l_.}ﬁ..n‘ :\.;L‘_gj.q:\'.“ Q\J\_)ﬂ\ Z_?.;G_a = EA_._lﬁ.n L_ILSS.J.L“ 8 = a.J‘J_.M
Leilal 310l 4 4,30 BT O S yall ¢ Lol ALl daall
| ' ' ' ' _ i Ay all- &
3\)33]\ 4| ZS).:a.“_idA’.“ _)\J.Al.u\ 3 :\S‘)ﬁ\.‘b d‘\-’—“ _)‘_)Al.u‘ 92 u.a:\m.nu.q_ﬁsi 1
dvalaall 2aa ye JaV Ayl zs}maﬁ'
P omi Glal 14| Aldadl Joang |3 em@ 2 Lss‘).uhulh\‘a.ﬁc. 1
Cala gleall - | ‘,m.a e Analadll 'QLa_,l:.d\
Q_N\ .J:J Y u’_uu Y (i.:y.a.nﬂ ‘Lh.a;.m]\) 4_\.\)3:3“‘!\-
5aa gll 43Dl 4 ml;_d\ B gl :\EJ.C. 3 @m\a.d‘oh;]\ aadle | 2 ngb]_)g.us.a.
SLIL dnlaall | AV Glaa dl g Sl e AYIGhadly 4SLall
| Adlal) Cila glaall 45 jlia i 43 jlaall 46
LMC-(::Y 4 CJ\SJ:ECA 3 QE_}Z&AJESﬂ‘L}uSJ 9 C.I\J:\.n.u_jhmuy 1
. A S A S
) Al g 4o a1 g Adal) Adaall = AN gaal)

(Q1) Apportionment for service costs dirct to production department.

Tagore company' is_divided into four departments. X and Y are Qodu'ction

departments. Stores and maintenance are service departments Actual costs for the

period are as follows:

Allocated costs Amounts/
- ] LD,

), .D.12000

g : .D.13000

Stores .D.2000

Maintenance 1.D.4000




Ajgportionéd'

Amounts/
costs I.D.
X .0.9000
Y .D.10000
Stores .D.1000
Maintenance 1.D.2000

Department X worked 4000 labour hours and re

.D.10000. Department Y worked 6000 labour'.
materials worth . '

R/ Show the

total

D.14000.

hours

Q2/ Choose one or more correct answers,

quisitioned materials worth
and requisitioned

rbduction- overhe'ads of Department X and Y.

——<.production overheads of Department Xand Y.

1- Which of the following dose not appear in Income statement?

1

2

3

4

Motor vehicles

Carriage outwards

Discount allowed

Discount received

2- Why is depreciation of fixed assets charged in the accounts

of business?

1

2

3

4

To ensure that
assets are replaced
when they are
worn out

To make sure that
cash is available to
replace assets when
they are worn out

To show what assets

are worth in the
statement of

To spread the
cost of assets
over their

financial position

useful lives.

3- At 1 March 2015 Mohammed trade r
the year ended 28 February 2016
receivables and allowed them cash d'iscounts
2016 his trade receivables totaled 1.D.14625.

eceivables amounted to 1.D.12100 in
he received 1.D.63500 from trade

of 1.D.3426 At 28 February

How much Were Mohammed's sales for the year ended 28 February 20167

1 2 | 3 4
.D.62599 .D.64401 ~ 1.D.66025 .D.69451
4- W3ich basis is suitable for apportioning advertising cost between departments?
1 2 _ 3 4
Departmental cost of Departmental gross Departmental - Number of staff in
goods sold profit turnover each department
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5- Which of the following will not be shown as equity in the Statement of
Financial Position? '

1 2 3 - . . 4

Debentures | Retained earnings Revaluation Sfare premium
- reserve |
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